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(a) Equationof AB =y -y, =m(x-x,)
. v, — ¥, -6-2 =8
Slope of AB =11 — -~ = =2
=X b-12 2

. Equation of 48 s
y—2==2x-2) = y-2=2x+4

= 2ai+y—6=0

(b) The line A8 cuts the yaxis atx = 0
20)+y-6=0 = p=6 D06 -NC

(in) Mstance from {(-2,-3) to AB is found using

[
ax, + by, + c|

——uer]

\"d:""l": [

3{.._\).;.1(-.3;—6[‘_I—l3l 13

T TR
(5 marks)
(iv)  "Hence™ means use previous information, i.e, ]h]
The area of aADC . We can use azl-bascx height
[4D]= JiI0-2 ¥ (6-2)' =20
; 2 13 .
SoAreaof aADC = :JE_G x:f; =13 square units {10 marks)
Comment:  Very similar 1o old course. Nole no proofs,
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